O oduod
(Basic Theory of Information Processing)

Juoogddoogtddood

HRN

e IO UOODONO

e UOOOOODOOOOOOODODNO
e OO OOOOOOOOOOOODOO
e OO DOOO

e DO UOOMO extends

— pggdootdboogbood
— pouoogo

o [I[]



14 000000 (p.270)
JO0000000000000

Juboodn = HEN [] HEN

HREEN L] HpN

oot o ouu
oottt otdbotdbbogtdbgtdbootdotd

class O OO0 A
00000000
(AT
(AT ]

Joooogg
(I ]
[T ]

+
e OO OOOLOUOUOLDOULDOULOOO



141 00000000 (p.271)
e J0DDDODODOODODO

e HUUUOOUOLODUOUOLOOUOLDOULODOUOLOOOOO

Juoogbooguod

class StudentBasic {
int stdNo;
int pMath, pPhys;
String name;
double height;

+

14.1.1 DODO0OO0O (DOODOODOOODOO0O)

o DO OON
bbbttty

e UUUUOOULOOO String U U O namel DU U OO UL



14.1.2 00000 O0ODO0O (p.278)

HEEEN Juboguboguod

O Jubodootdboodbobogtn

private UUOUQOOOO
protected UL UDOUUOUOOOOOUOOUOOUOLDOLOOOON

public Juboodootdbootdd

class StudentAccess {
public int stdNo
private int pMath, pPhys;
protected String name;
double height;

¥



142 0000000 (0DO)
00000000

class StudentMethod {
int stdNo, pMath, pPhys;
String name;
double height;

void setPoint(int inPMath, int inPPhys) {
pMath = inPMath;
pPhys = 1inPPhys;

}

double avePoint() {
return (pMath + pPhys) * 0.5;

}
}



e [0 setPoint ()

— U U0OintU U inPMathl] inPPhys

— 000000 (void)

— oo btd pMathl pPhysU U0 U U O UO O inPMath ] inPPhys [ U U [
HENRERN

e [0 avePoint ()

— goguoo

— [ 0O0O00Odoublel]
— JUodbodbodepMath pPhysU OO OOOOOOOOOOOOOO0O

14.3 UOOU0OOOOOO

o Jooogoootdod

[ O Jooogboobouoboooooond

private UOUOOOOOO

protected U UDOUUOULODOOOOOUOOUOLDOLOOLOON
public Joogoobouobood




Jooguo

class StudentAccessMethod {
public int stdNo;
private int pMath, pPhys;
protected String name;
double height;
private boolean open = false;

protected double avePoint() {
if (open) return (pMath + pPhys) * 0.5;
else return 0.0;

¥

private void setPoint(int inPMath, int inPPhys) {
pMath = inPMath; pPhys = inPPhys;

¥

public double getHeight() {
if (open) return height;
else return 0.0;

¥

+



144 0D0O0ODODO@OODO)DODOO
o U UDODOOOODONO Jodogtdotdod
ooy

e OO ULLOUOUOLUOUOLDOULDUOUOUbLOUObbLUUL
Jogbogubotdbtobgboubotubtobuoboubotubuobobod
U U0 StudentBasicU U U OUUOOUOUOODOUOODOUOOxO0UOOOON

StudentBasic x;

e I U StudentBasicUUUUUUULOOUOLODOUOOOUOOOON

145 00000000000 (p.270)
e 0000000 ODODODODODONODODODONONONDNONDONOOO
e nevd00O0D0O0D0ODOO

U U0 StudentBasicU U UUOUOULODOUOOUOODOULODOOOUOLOOLOOOO
obdxbOogogo

X = StudentBasic();

e StudentBasic() 0O 000000000000 (00)0

8



146 00000000000 (p.274)
e J000DO0DODDODDNDONDONDONOONDONOONDONDO

Juoodootdbooduod

e U ULOUOULOULOUOULOLOUOLObObLUOb bbb uoboboouod
Jooooo.ooooood

L O

class StudentBasic {
int stdNo;
int pMath, pPhys;
String name;
double height;

+

Juobgubgdootdboodgbod



public class MainStudent {
public static void main(String args([]) {
StudentBasic stda = StudentBasic() ;
StudentBasic stdb = StudentBasic();

stda.stdNo = 4;
stda.name ="ggogon",
stda.pMath = 90;
stda.pPhys = 92;
stda.height = 156.7;

stdb.stdNo = 2;
stdb.name ="gpogopogaog?";

System.out.println("UOOOOO" + stda.stdNo + "OUOOO" + stda.name

+ "O0O0O00" + stda.pMath + "O0OOO" + stda.pPhys
+ "OO000" + stda.height);

10



147 0OO0OOOO (p.283)
e 0000000 ODDODODODDOONOONONONONONDNONDNONDOONOOCO

000000000000 00(@mOobDoOobooon)d
e DU OOOOUOULDOLOOOON

— Joogubogtdootdboodtd
— Juobogdogtdboodguood

public class MainStudentMethod {
public static void main(String args([]) {

StudentMethod stda = new StudentMethod();
StudentMethod stdb = new StudentMethod() ;
stda.stdNo = 4; stda.name ="gggogno";
stdb.stdNo = 2; stdb.name ="gpoogaog?";
stda.setPoint (90, 92);
stdb.setPoint (80, 87);
System.out.println("0 00" + stda.name + " OO 0O0O" + stda.avePoint());
System.out.println(" UO" + stdb.name + " 00O OO" + stdb.avePoint());

11



14.8

e UUUUOOUOLOOUOUOLOOUOLDUOULOOUObOLOUOUDO
(ODOo0DbOooOoDooOobOoooooog)

e 00DODODOODODO
e 00DODOO (voidO D ODODOO)DO
e 0000000 D0O0DODOODODODNODONDODONDNODOONDODONDNODODO

— pgtdbootbotgbbtgtdbgtdbootdbotgtubtgtdn

e 1O OOOOOUOUDLOON
Jogbogbotubtoboboubtdbotoboobood

— go0oooobooooooooboonon
— goooooooooooooonod
— 0oooooooooo
e O OOMO Doo0ooooooooooOod
new JUO OO @oo, ooo, ...)
OO0o000ooooon
new OO0 ()

(Oo0DC++000000000D00DO0D000D00D00java0000O0DOONO)

12



class StudentConstructor {
int stdNo, pMath, pPhys;
String name;
double height;

StudentConstructor(int inStdNo, String inName, double inHeight) {
stdNo = 1nStdNo;
name = 1nName;
height = inHeight,;

}

void setPoint(int inPMath, int inPPhys) {
pMath = i1nPMath;
pPhys = 1inPPhys;

}

double avePoint() {
return (pMath + pPhys) * 0.5;

}

}

13



Joodootdbood

public class MainStudentConstructor
public static void main(String argsl[])
StudentConstructor stda
= StudentConstructor (4, "UDOQOQOQO", 156.7);
StudentConstructor stdb
= StudentConstructor (2, "UOOOO", 160.0);

stda.setPoint (90, 92);
stdb.setPoint (80, 87);

System.out.println ("0 00" + stda.name + "U U O OO" + stda.avePoint());
System.out.println("J UO" + stdb.name + "U O O UO" + stdb.avePoint());

14



149 0000O0D0OO0ODODOODO (p.281)
e U ULOUOUOULDODUOULDUOUOUOLDUOUOULDUOUOUOLOOUOULOoouoogyn

oo

class StudentBasic {
int stdNo;
int pMath, pPhys;
String name;
double height;

public StudentBasic() {
¥
by
e OO OOOOOOIODOOOOOOOODOODODOOOOODODOODDOOOO

DOoddoogn
StudentConstructor stda = new StudentConstructor() ;

oottt ogoogd
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14.10 00O00O0OO0ODOODODOOODOODOOO0O (p.275)

o U DOOUOUODODOOONO
bbb otdbbogtbtgtgbootdbootbogd

class StudentInit {
int stdNo;
int pMath, pPhys;
String name;
double height = 155.0;
¥

public class MainStudentInit {
public static void main(String argsl[]) {
StudentInit std = new StudentInit();
System.out.println("height = " + std.height);
b
+

16



14.11 O0000O0OOO00O00O0O0OO
e OO OMNO
— []
x 000000000 ooooogooodn
(OOo0DbOoDOo0oOO0bOOoDOoobOOooDOOooDoOon)d

» oo otdbogoogd
» oottt odgug
— []

» oottt otdbbogdogd

» oot otdboggogd
Jootdbtobotbtgbotubtobotdboobotbobotdbooubgn
Jubodoogtdboodgboogd

* 000 Jootd

» oot odbootdboogng

» o . oo ogyg

° []

— pgtbootdbotgbbotgtbbtotdbotdbotdbod

— bbbt btboootboobotuboobod
Joooooogogd
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— pggtbootgbobotgtdbootdboogod

1 [
class ClassVar {

public static void main(String args([]) {
ClassVarSub a = new ClassVarSub();
ClassVarSub b = new ClassVarSub();
a.print();  b.print();
a.x = 3;
ClassVarSub.y = 4;
a.print();  b.print();

}
}
class ClassVarSub {
int x = 1; Oooooood
static int y = 2; Oodog
void print() {
System.out.println("x =" + x + " y =" + y);
}

}

18

HREEN

o T B e

_ W = -

<< <

NN



bbbt tgtdbootdbootdboogd

class MainLocalvsField {
public static void main(String args[]) {
LocalvsField obj = new LocalvsField();
obj.checkPrint () ;
obj.checkPrint2();
+
b

class LocalvsField {
int x, y;
LocalvsField() { x = 1; y = 2; }
void checkPrint() {
int x = 10;
System.out.println("x = " + x + " y =" +y);
}
void checkPrint2() {
double y = 20.0;
System.out.println("x = "+ x + " y ="+ y);
t
}

19



14.12 0000O00ODOODOOO(M@MODOOOOO0)
° bbb otdbbtgtdbtgtbootdbod

e 000D ODOODODODOODODODOODO(MDO)O
e HOUOOUOOOOUODOODODOOODODODDDODOODOODOOOOON

class Scope {
public static void main(String args([]) {
int x, y;
x =0;, y =4,
{

x =x + 1;
int z =
//int y = 3;
X =y * X;
System.out.println("x ="+ x + " y="+y + " z="+ z);

}

System.out.println("x =" + x + "y =" + y);

)

W s -

20



e OO UOLOOOUOLDOUOLDOULOODOLOLOOUOLDUOUOLOODUObDOOOoDoUn
=ttt bogtdbgtdbootdb oy

o DO OUOUODDODOOONO

public class ScopeFor {
public static void main(String args([]) {
int sum = O;
for (int i =1 ; i <= 10 ; ++i) {
sum += 1;
h
System.out.println("sum = " + sum);
}
h

e OO OrDOOOODiOOODOOODOOO
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e UDOOUOOOODOOOODONO

public class ScopeSwap {

public static void main(String args[]) {
int a =3, b=-1;
double x = 2.0, y = -5.0;
// alpv00O000oodn
{int t = a; a =Db; b =t;}
System.out.println("a =" + a + " b ="+ b);
// x0y00000000
{double t = x; x =y; y = t;}
System.out.println("x =" + x + "y =" + y);

e Ut OUOUOOUOULDOULOODULOOOOOON

e OO OOLOOUOOULOUDLDtOLOOLDOULOULDOLOOLOON
oooogogg
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14.13 00 (00DO0DOODODOO0)
e J00D0O0D0O0DOOODOONDODOODODN

o LD OONO Joogug

e HUUOOUOOUOOOUOODOODO

e UL bbotboubbbotdbotgbogd

e finalll staticU U U UUOUOLOOUOLOON

e U UUUOUOLUOLUOLDULULULUOUobLoububboogbgod
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HEN

class MainFinal {
public static void main(String args[]) {
Final t = new Final();
System.out.println("t.Width = " + t.Width);
//t.Width = 2; // 0000000000
¥
+
class Final {
final static int Width
static final int Height
final int Depth = 255;
int setPoint(int x, int y, int val) {
if (x < 0 || x > Width) return -1;
if (y < 0 || y > Height) return -2;
if (val < 0 || val > Depth) return -3;
// set point routine
return O;

720;
480;

24



14.14 OO 0O0OO

Jogbootdbotobogbtboobbogogbod
ooooood

int abc(int i) {
(T
}

int abc(int i, int j) {
(T
}

int abc(double i) {
HNNNNnnne

}
ooyt

abc(1) OO 1ID0O0O0OD0OOODOOOOOON
abc(1, 2) 00020 00000000000000
abc(1.0) O 0O300000O0O00OOOOOON

oot ogdogd

25

e U DOOOODOON
oo

o [ [ O OO I O
00O 0O
int abc(int i) {
[T

+
double abc(int i) {

(I
}
e DOOOODDIOOOO
int abc(double i) A
(I

+
double abc(int i) {
[T

}

oo



14.15 this (p.288)
e thisDODODODOOOODOODOO

o 111010

— pgtdootdboogbbogtobtodogd
— pgtdbootdbotubbtgtdbotdbootdbougtun

e thisHHUUDUUUOULOOUOLODUOULODUOULDUOULDUOULODUOULOOULoouboggno
Juootdbootggod

e U UDUOUDUOOOOLOOUDO Jotdotgobtdbotdbtdd
L]

class MainThis {
public static void main(String args([]) {
This t = new This(2, 1.5);
t.printField();
}
}

26



class This {
int n;
double stx, sty;
This(int inN) {
n = 1nN;
stx = 1.0;
+
This(int inN, double sty) {
this(inN); // 0000000000 OOOOO
this.sty = sty;
¥
void printField() {
System.out.println("n = " + n + " stx =" + stx + " sty = " + sty);
+
¥
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15 000000 (p-388)
o U OOOOULODODOUOOOOOODOONO

— U
— 0

bbbttt botdtdo
e OO UOOOOUOLDOULODUOULDOUOLOUOLODLOON

— pgtdbootbbtgtdbotdbotgbobgd
— upgtdbootbotgbbtgtbtotbdbotdbotgbubtotdn

° Joooogddoood

— oot gotgubtbodn
— Jubotgtdb dbotdbotbotdd

15.1 extends (p.390)
o U DOUOUOULODLODOOONO guoduooobogn

class UOOOOO extends UUOOOOOO {
guootdbood
guoguod
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15.2 [
public class PartsBasic {

int id; // 0000
int type; // 00000
String name; // 000

int price; // 00 (O)
int period; // OO (O)

J/ 0000 oooooddd
PartsBasic() {}
J/ 0o s0000d0dudgn

PartsBasic(int id, int type, String name, int price, int period) {

this.1id = 1d; this.type = type;
this.name = new String(name); this.price = price;
this.period = period;

b
void printInf() { // 0000 @MOOODOOOOOODOOO)NYDOOOODOO

System.out.println("OOOO" + name + "typell" + type
+ "Jood"™ + price + "OOGQOOO" + period + "I");

29



public class ResistorBasic extends PartsBasic {
double resistance;
double maxPower;

// A0 0000000000000
ResistorBasic(int id, String name, int price, int period) {

this.id = 1d,;

this.type = 1,;

this.name = new String(name);
this.price = price;
this.period = period;

+
// 0000o0ogoogn

void printSpec() {
System.out.println("resistance = " + resistance
+ " maxPower = " + maxPower) ;

30



Jooguogd

public class MainPartsSuper {
public static void main(Stringl] args) {

ResistorBasic re = new ResistorBasic(l, "UQ4Qooonog™"™, 45, 5);
CapacitorBasic cp = new CapacitorBasic(2, "OOUQogdgdoooo", 10, 3);
re.price = 35;
re.printInf(); cp.printInf();
re.resistance = 1000; re.maxPower
cp.capacitance = 1.0e-6; cp.maxVoltage
re.printSpec(); cp.printSpec();

0.25;
16;

HRN

Juobgubtgtdbootdbootdgbssudubogsy

bbbt odgbbogtdob b3y
resistance = 1000.0 maxPower = 0.25
capactance = 1.0E-6 maxVoltage = 16.0
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15.3 super (p.393)
e super U U UL OUOOOOOOOMO
o U DOUOUOULODLODUOUOOULODLDUOUOODUODLODODUOOUOLODOO

public class ResistorSuper extends PartsBasic {
double resistance;
double maxPower;

// A000000000000od
ResistorSuper(int id, String name, int price, int period) {
super (id, 1, name, price, period);
by
// 0000000o0ogn
void printSpec() {
System.out.println("resistance = " + resistance
+ " maxPower = " + maxPower) ;

32



154 000000000000 (p.406)

e U OUOUOLODOUOLDOUOLOOUOLOOONO

— g
— oot
— oo

bbb otdbotdbd
o DO UOUOOLODODUOUOUOODLODOUOOUDOO Juoboguboguod
e HUUUUOUOLOLOUOUOLDOULODUOUOLUOUOUOLOUDL oo

e HUUUOODUOOOOULDOULODOUOLOLODOUOLDUOUOLDOULOObLOoOUn
(Do0DbOooDOooDoOobOooooDoobooooo)

e U UOUOUOULOLOOULDUOUODDODOULDUOObLOOOUboogdoougyn
EREENAN

e OO otbotgbbgdbgbootdbogd
o DO OON (ODoDbOooDoooooo)o
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public class Parts {

int id; // 0000
String name; // 000
int price; // OO0
int period; // OO

// 0000000000000
Parts(int id, int type, int String name, int price, int period) {

this.id = 1d;

this.type = type;

this.name = new String(name);
this.price = price;
this.period = period;

}
void printInf() { // UUU0O (UULOUOUOOOOOOUOOO)YLOOOOOO

System.out.println("U0O 00" + name + "UUOOO" + price
+ "Jogougdg" + period + "O");
+
double calPower(double current, double voltage) {// UL U OUOOUOIMO

return current * voltage;

}

34



¥

public class Resistor extends Parts {
double resistance = 1.0;
double maxPower = 1.0;

// 000400000 00000
Resistor(int id, String name, int price, int period) {
super (id, 1, name, price, period);
+
// 0000000
void setSpec(double resistance, double maxPower) {
this.resistance = resistance;
this.maxPower = maxPower;
+
// 0000 @Oy oooooooooood
void printInf() {
System.out.println("UUOUO" + name + "UUOUOO" + price
+ "O0ddon" + period + " ");
printSpec();
¥
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// 0000 ouooogd
void printSpec() {
System.out.println("resistance = " + resistance
+ " maxPower = " + maxPower) ;

}
// 000000000 oodoonoogn

double calPower(double current, double voltage) {
double power = current * voltage;
if (power > maxPower) {
System.out.println("Power excess its limit(" + maxPower + "): "
+ power) ;
return -1.0;

}

return power,

}
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Jooguoogd

public class MainParts {
public static void main(Stringl] args) {

Parts pt = new Parts(0, 1, "OO", 35, 2);
Resistor re = new Resistor(l, "OOUOOODOO™", 45, 5);
re.setSpec(1.5, 0.25);
pt.printInf(); re.printInf();
System.out.println("Power of pt = " + pt.calPower(2.0, 3.0));
System.out.println("Power of re = " + re.calPower(2.0, 3.0));

}
+

HEN

Do bdbogbos3sgdbodn2d
OO0o000boobooboboobdob4sddbdnost
resistance = 1.5 maxPower = 0.25

Power of pt = 6.0

Power excess its 1imit(0.25): 6.0

Power of re = -1.0

Jgoddddddddddoobobobobbny
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15.5 00000000 (p.408)
o U DOOUOUODODOOONO

e U UOOUOULOLDUOUOULODODOUOLOOUOOLOO
Jubogdootdboodggod

public class MainPolymorphism {
public static void main(Stringl] args) {

Parts ptl = new Parts(0, 1, "OO", 35, 2);
Parts pt2;
Resistor re = new Resistor(1, "UOQOOOGOQO", 45, 5);
Parts pt3 = new Resistor (1, "OUUOOGQOGQOGQ", 15, 1);
re.setSpec(1.5, 0.5);
pt2 = re;
ptl.printInf();
pt2.printInf ();
re.printInf();
pt3.printInf ();
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HEN

Do bdbobos3sgodbodn2d
OO0o000boobooboboobdob4sddbdnost
resistance = 1.5 maxPower = 0.5
O0o0o0dbdbooobodobdib4sbdnbodgdst
resistance = 1.5 maxPower = 0.5

Do bdbooobotdbobisgdbdnit
resistance = 1.0 maxPower = 1.0

Jubgtubgtbdbootdbobotgtgbtotbootbbogbgbootgbogd
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15,6 0DO0ODOOOO0O (p.412)

o U UDDOOUOUOUOOODLODODOOUOOUOODODLOLODODODOOOUOLOOO OO HH
Joooooodoodoodboooboogod

e OO ULOUOUOLOUOULDOULDOUOLOUOLDLO

— pt3.setSpec(10.0, 2.0);

— pt3.printSpec();

e 0O ODOOODOODOODOOUOODODODUOODODODUOOOODUOOODODOOOOOO
Dooooooo

o U OULOLOUOUOLDUOULDOULUOUObLOUOUOLDUOUbDodboogbod
bbb bgtdbbotdtbbogtdbootdbbotgbboogtbootgbbod
Jooodootdboodgood

o 100 DOMOMO

— ((Resistor) pt3).setSpec(10.0, 2.0);
— ((Resistor) pt3).printSpec();
ODOo00booooboboobooodnnod

° Jobootdbobotdbboodbobootdbbotdbbootdbbotdbbotdgnn
O00000000D0DOO0(@0DObOOo0DO0o0oOo0obooooooooDoOon)o

40



15.7 O0OOOOoOOO
e OO ULOUOUOLOUUOLDOULDUOULUOUObLUOUL

e DU IOMN StudentSort U0 OOOUOOOO
StudentSort studentL[];

U0 UOO StudentSort U U U UHOLODOOOUOOLODOLOOUOLOLODLOL studentL ]
gooogod

o | [UstudentL [JStudentSort [

o 1[0 0I
studentl = new StudentSort[10];

oot studentSortU U OHUUOOOOOOOOOOOOIODOODOMO
JUboodbootdboodbbodtdd studentLUO O OO OOMO

e OO OOUOOOODODOOOOOOOO
StudentSort studentL[] = new StudentSort[10];

e O ULUOLUOOODUODO IO OULDUOLOObLoguotgn
bbb ottgbotdbootbotgbbtgbotbotdbbgtdn
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e U StudentSort )0 UOOOIDO StudentSort) OO UOOOOODOOO
HREEEEE

StudentSort studentL[] = new StudentSort[10];
studentL[0] = new StudentSort();
studentL[1] = new StudentSort();
studentL[2] = new StudentSort();
studentL[3] = new StudentSort();
studentL[4] = new StudentSort();
studentL [5] = new StudentSort();
studentL[6] = new StudentSort();
studentL[7] = new StudentSort();
studentL[8] = new StudentSort();
studentL[9] = new StudentSort();

JubtdUforbddbdbbgy

StudentSort studentL[] = new StudentSort[10];
for(int k = 0 ; k < 10 ; ++k) studentL[k] = new StudentSort();
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15.8 0O OO
(DooOooooboooon)

15.8.1 00000 (p.426)
e 000DO0DDODDODOODOODOO

e HO0IOO0OOOOOOOOOOOOOOOOOOOOO

e UUUOONO abstract O O OO
abstruct class Parts {

e HOOODOabstractU D OO O0OOOOOOOOOOOOOOOO0OOOOOOONO
abstruct double calPower(double current, double voltage) ;

e 000D ODODODOODODODOD(DODOODOODODOODDOODOD)O

e HOUOOOOOOOOOUOOOODOOOOOOO

e HOIOOUOOOOOOOOOOOOOOOOOOOOOO
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15.8.2 00000000 (p.454)
e Java0000O00O00O00O0D0O0D0O0DODODO0O

e U UDOUOUOULDOUOULDUOUOOLOUOUOULDUOOULDOUOULOOOOooggn
bbbttt

e U UOUOULLOOULDLOUOULOLOUOUbLLUOUOb bbb buougyn
Juootdbootgod

e DO UUOOODODUOOUDONO

e interfacell [ [ [
oDDDDDDDDDDDDfinalDDDDDDDD(DDDDD)D
o IO abstract U OUOOOO

o []

interface CurrentIntf {
static final double coeffc = Math.sqrt(0.5);
abstract double getEffCurrent();
abstract void setPeakCurrent(double peakCurrent);

}
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15.8.3 00000 (p.364)
e J000DOODDODDOODOO

e 1D (ODDDOODODODO)DODOODDOODODOODODOO

e java.awt.event

Ojaval OO UOOUOLOOOUOUOOLDHawtd DO OUOOOLOOO OO UOevent
Joogdootdboodood

e 1UDUUOUOOUOUDO ActionEvent U U O UOOOOOOOOLOOOOOOONO
oooogodogon

import java.awt.event.ActionEvent

e OO OULOOULOLOOULDOUOLOUObLOOULDUObOLOUbLOobuDbLuoboun
Joooododoooooogo

import java.awt.event.*
o JUUUOLOOOOLUOUOOLOUOLDLOUODLUOOOpublicbOOUOOLOOOOON
o L DUOOOLOOOOULUOLDUOLDUOLULOUpackagel U UL LML

e UL UOULOLDOUOULLOUOULOLOUOUL LU bbb uoutyn
oot

e System.out.printlnO U000 SystemU OO OO DMO java.langU OO OO OO
000000000 oddimportd 000000
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Jooodbootdd

Jubgtubgdootdbodgtbttdn

e [|[][]Vector
o [ [0

o []

namel] Stringl U U U OOUOOUOLOOOOON
dimensionU intU U UOUUOUOOULODOUOODOUOLOOOUOLOOON
componentlldouble U UOUUOUOUOUOULODOUOLODOUOLOOOLOOOUL

HEERN

Vector(String name, int dimension) 00000000 OOOOOOOON
Jodoodbodbotuootdbubotibotubbotubotddotdd doubled oy
JO0o00o0oddod component U U 0L U 0O

setComponent (int 1, double comp)0 000100 (0000 ODO)O00OO
(compnent [1])0 compO0 O OO OO

void addVect(Vector x, Vector U U U DI 200000000OO0OOOON
Ooon

double innerProduct(Vector x) U O 00O U0O0OOOOUOOOOODOOOOONO
Od0ooddooooogn

void printVectorQU U OO OOOUOODOOOOO
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oo

JUOOz=z+yUUUUOUOz, y, 00000000 y00000OO0OOO0OOON
Juoogdno

x[0] = 2.0
x[1] = -1.0
x[2] = 1.0
y[0] = 3.0
y[1] = 2.0
y[2] = -2.0
z[0] = 5.0
z[1] = 1.0
z[2] = -1.0
<x,y> = 2.0

oottt otdbon
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public class MainVector {
static public void main(String argsl[]) A

Vector x = new Vector("x", 3);

Vector y = new Vector("y", 3);

Vector z = new Vector("z", 3);
x.setComponent (0, 2.0);
x.setComponent (1, -1.0);
x.setComponent (2, 1.0);
y .setComponent (0, 3.0);
y.setComponent (1, 2.0);
y
Z
X
y
Z

.setComponent (2, -2.0);
.addVect (x, y);
.printVector () ;
.printVector();
.printVector();
System.out.println("<x,y> = " + x.innerProduct(y));
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16.1 UUOUOUOOOUOLOOOOOOO
o (UUUOOULOLOUOULDOULDOUOLOOUOLOLOON

° StudentSortl L 1 U
0000 boolean comp(int type, StudentSort x, StudentSort y) U [ true
D000x000yOoooooo
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class StudentSort {
private int stdNo, pMath, pPhys;
private String name;
private double height, aveP;

StudentSort (int stdNo, String name, double height) {
this.stdNo = stdNo;
this.name = name;
this.height = height,;
+
void setPoint(int inPMath, int inPPhys) {
pMath = inPMath;
pPhys = 1inPPhys;
setAvePoint () ;
¥
void setAvePoint() {
aveP = (pMath + pPhys) * 0.5;
¥
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static boolean comp(int type,

}

boolean res = false;
switch (type) {

case 0: res = x.stdNo > y
case 10: res = x.stdNo < y
case 1: res = x.pMath > y
case 11: res = x.pMath < y
case 2: res = x.pPhys > y
case 12: res = x.pPhys <y
case 3: res = x.aveP >y
case 13: res = x.aveP < y.
case 4: res = X

case 14: res = x

+

return res,;

void print() {

;o

System.out.printf ("
stdNo,

%4d
name,

StudentSort x, StudentSort y) {

aveP

o1

.stdNo;
.stdNo;
.pMath;
.pMath;
.pPhys;
.pPhys;
.aveP ;

)

)

break;
break;
break;
break;
break;
break;
break;

break;

.height > y.height; break;
.height < y.height; break;

%6sU %4d %4d %6.1f 7%6.1f \n",
pMath, pPhys,

aveP, height);



public class ClassSort {

private int nStudents;

private StudentSort[] studentL;

// 000000

ClassSort(int nStudents) {
this.nStudents = nStudents;
studentlL = new StudentSort[nStudents];

+

// O00no0000O0O0O0O0ODOOOCOOOO

void setStudent(int no, int stdNo, String name, int mathP, int physP,

double height) A

studentL[no] = new StudentSort(stdNo, name, height);
studentL [no] .setPoint (mathP, physP);

}
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void sortSelect(int type) {

// typeU U0 0O0OO0O0OOOOO0O0ODOO0OOODOOOON

}

void print() {

System.out.println(
"Ooooooooooooooboooooooooooo odg™);
for (int k = 0 ; k < nStudents ; ++k) {
System.out.printf ("  %4d", k); studentL[k].print();

+

b

by
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public class MainClassSort {

public static void main(String args([]) {

ClassSort cls = new ClassSort(6);

cls.
cls.
cls.
cls.
cls.
cls.

cls.

cls

setStudent (0,
setStudent (1,
setStudent (2,
setStudent (3,
setStudent (4,
setStudent (5,

sortSelect (4);

.print () ;

0,
1,

J
b

3

o W N

b

"upoggor,
"uoggor,
"uopggor,
"googgo,
"ooggor,
"upoggor,

o4

95,
39,
90,
38,
30,
91,

95,
39,
82,
85,
87,
85,

176.
157.
160.
1568.
LT ;
162.

156

0);
0);
0);
0);

0);



16.2 UUOOUOOOOOOOOONO

oot otdbobogtdbtgtdbootdbod
Jooguod

public class ComplexNum {
protected double re, im; // red 000 im0 00
// 0000000 0uoonooooooogn
ComplexNum(double re, double im) {
this.re = re;
this.im = im;
+
// 0000o0uoooooot
double abs() {
return Math.sqrt(re * re + im * im);

}
// 00000dooooooooood
void print() {
System.out.println(re + " + " + im +"i");

}
¥

%)



oottt btodbootdboodbobn

public class MainSortComplex {
public static void main(String args([]) {
int N = 10;
ComplexNum cnL[] = new ComplexNuml[N];
cnl.[0] = new ComplexNum( 1.0, 1.0);
cnL.[1] = new ComplexNum( 3.0, 1.0);
cnl.[2] = new ComplexNum( 1.0, -4.0);
cnl.[3] = new ComplexNum( 2.0, -2.0);
cnl.[4] = new ComplexNum( 4.0, 0.0);
cnL[5] = new ComplexNum( 0.0, -2.0);
0
0
0
0

]

cnl.[6] = new ComplexNum(-1.0, 3.0);
cnL[7] = new ComplexNum(-2.0, 3.0);
cnl[8] = new ComplexNum( 3. 4.0);
cnl.[9] = new ComplexNum( 2.0, -1.0);

-

“

// 00000000
for (dnt i = 0 ; 1 < N ; ++i) cnL[i].print();
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// 00000000

// 00000
for (dnt i = 0 ; 1 < N ; ++i) cnL[i].print();
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16.3 UUOOUDOOO

// 0000000o0dooonooooog
// 00010040000 000000
public class MInt {
int N; // 00 /4
boolean sign = false; // false : +, true : -
int vall]l;
MInt(int N) {
this.N = N;
val = new int[N];
clear();
¥
// 00y
void print(String s) A
if (sign) System.out.print(s + "-");
else System.out.print(s + "+");
for (int k =N -1 ; k > 0 ; --k) System.out.printf("%04d", vallk]);
System.out.println();
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// 0000000
void clear() {
sign = false;

for (int k =0 ; k < N ; ++k) vallk] = 0;
t
// x000000000
void copy(MInt x) A
sign = X.sign,
for (int k = 0 ; k < N ; ++k) vallk] = x.vallk];

}
// 0000x00000000 true

boolean gtAb(MInt x, MInt y) {
for (int k =N-1; k>0 ; —-k) {
if (x.vallk] > y.vallk]) return true;
else if (x.vallk] < y.vall[k]) return false;
¥

return false;

}
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// 00000x0yO0OOOOOOOO true
boolean gt(MInt x, MInt y) {
if ((! x.sign) && y.sign) return true; // 000
else if (x.sign && (! y.sign)) return false; // OO0
else if (x.sign && y.sign) return gtAb(y, x); // OO0
else return gtAb(x, y); // OO0
by
// xUy0o0oodoooboogoog
void addAb(MInt x, MInt y) {
int carry = O;
for (int k =0 ; k < N ; ++k) {
int tmp = x.vallk] + y.vallk] + carry;
if (tmp > 9999) {
val[k] = tmp - 10000;

carry = 1;

} else {
val[k] = tmp;
carry = 0;

F o}
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// xO0y0o0o0oodooooooooo (x> tytgggd)
void subAb(MInt x, MInt y) {
int borrow = 0O;
for (int k =0 ; k < N ; ++k) {
int tmp = x.vallk] - y.vall[k] - borrow;
if (tmp < 0) {
val[k] = tmp + 10000;
borrow = 1;

} else {
val[k] = tmp;
borrow = 0;

}

¥
}
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// 0000
void add(MInt x, MInt y) {
if (x.sign ~ y.sign) {
if (gtAb(x, y)) {
subAb(x, y);
sign = X.sign,
} else {
subAb(y, x);
sign = y.sign,
¥
+ else {
addAb(x, y);
sign = X.sign;
+
¥
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// 0000
void sub(MInt x, MInt y) {
if (x.sign ~ y.sign) {
addAb(x, y);
sign = X.sign;
+ else {
if (gtAb(x, y)) {
subAb(x, y);
sign = X.sign,
} else {
subAb(y, x);
sign = y.sign,
¥
+
¥
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// x0y0o0o0oooooood
void mul (MInt x, MInt y) {
clear();
sign = x.sign ~ y.sign,
MInt tmp = new MInt(N);
for (int k = 0 ; k < N ; ++k) {
tmp.clear();
tmp.mulS(x, y.vallk], k);
addAb(this, tmp);
b

}
// x0000int(400H) 00000000000

void mulS(MInt x, int y, int k) {
int carry = O;
for (int 1 =0 ; 1 <N -k ; ++1) {
int tmp = x.vall[l] * y + carry;
val[l + k] = tmp % 10000;
carry = tmp / 10000;
¥
b
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// x0y00o0oodoooooooog
void div(MInt x, MInt y) {
clear();
sign = x.sign ~ y.sign,
int xTop, yTop;
for (xTop = N - 1 ; xTop >= 0 ; --xTop) {
if (x.val[xTop] != 0) break;

by

if (xTop < 0) return; // OOOO

for (yTop = N - 1 ; yTop >= 0 ; —-yTop) {
if (y.vallyTop] != 0) break;

+

if (yTop < 0) return; // OO
long tApp, yApp; // O OO

yApp = y.vallyTop] * 10000L;
if (yTop >= 1) yApp += y.vallyTop - 1];
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MInt tmpl = new MInt(N);
MInt tmp2 = new MInt(N);
tmpl.copy (x) ;

for (int 1 = xTop - yTop ; 1 >= 0 ; --1) {

tApp = tmpl.val[yTop + 1] * 10000L;

if (yTop + 1 < N - 1) {
tApp += tmpl.vallyTop + 1 + 1] * 100000000L;

¥

if (yTop + 1 > 0) tApp += tmpl.vallyTop + 1 - 1];

int quat = (int) (tApp / yApp); // OD0OO0OO0O

if (quat > 9999) quat = 9999;

if (1 <= 1) quat += 2;

tmp2.clear();

tmp2.mulS(y, quat, 1);

while(gtAb(tmp2, tmpl)) { // 000000 OOO0ODOOOOODOO0O
——quat,
tmp2.subAbS(tmp2, y, 1);

¥
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tmpl.subAb(tmpl, tmp2);
while(gtAbS(tmpl, y, 1)) { // 00000000COOO0O0O0O0O0OC
++quat,
tmpl.subAbS(tmpl, y, 1);
+
val[l] = quat;
}

}
// x00000y0OO0Ooood4001000000000000000

boolean gtAbS(MInt x, MInt y, int 1) {
int k;
for (k =N-1; k>1,; —-k) {
if (x.vallk] > y.vallk - 1]) return true;
else if (x.vallk] < y.vallk - 1]) return false;;

+
for (; Kk >= 0 ; —--k) {

if (x.vallk] > 0) return true;
}

return false;

}
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// x000000y0OOO0Oo40010000000000000O00
void subAbS(MInt x, MInt y, int 1) { // 000OO0O |[|x! > 100000 y!
HRERN
int borrow = 0, k;
for (k =0 ; k<1 ; ++k) {
vall[k] = x.vallk];
+
for ( ; k < N ; ++k) {
int tmp = x.vallk] - y.vallk - 1] - borrow;
if (tmp < 0) {
vall[k] = tmp + 10000;
borrow = 1;

} else {
val[k] = tmp;
borrow = 0;
+
}
+

¥
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public class MainMInt {
public static void main(String args[]){
MInt x = new MInt(4);
MInt y = new MInt(4);
MInt z = new MInt(4);

.81gn = true;

.val[l] = 8234; x.val[0] = 3234;
.val[1] = 4321; y.val[0] = 8132;
.print("x = "); y.print("y = ");
.mul(x, y);

.print("z = ");

.clear(); y.clear(); z.clear();

KON N X< XN

.val[2] = 345; x.val[1l] = 8234; x.val[0] = 3234;
.val[1] = 4321; y.val[0] = 8132;

.print("x = "); y.print("y = ");

divix, y);

.print("z = ");

N N X < ™

69



.clear(); y.clear();

.val[3] = 3256; x.val[2] = 345; x.vall[l] = 8234; x.vall[0] = 3234;
.val[l] = 4321; y.vall[0] = 8132;

.print("x = "); y.print("y = ");

divix, y);

.print("z = ");

N N X < X X

// 0000ggd

int N = 26;

MInt one = new MInt(N);
MInt exp = new MInt(N);
MInt onel = new MInt(N);
MInt n = new MInt(N);
MInt tmp = new MInt(N);

one.vall[0] = 1;
oneL.val[N - 1] = 1;
exp.val[N - 1] = 1;
n.val[0] = 100;
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for (int k = 100 ; k >= 1; --k) {
tmp.div(exp, n);
exp.add(onelL, tmp);
tmp.sub(n, one);
n.copy(tmp) ;
¥

exp.print("exp = ");

71



16.4 U U0U
o U DDOOUOUODODONO

o OO UOUODDODOOUDODDOOONO

e UOUODODOON

o LU DDOOON

e UL OUOLOLUOULDUOUOLDUOUbLUOUObbLOUbodbootb ooty

e U ULOUOUOULDOUOULDLOUOUOLOLOUOULDUOUObbLUOObboubougyn
guougod
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